29E

2742 1yd. 1 yd.
1 X X = 3yds.2
) =3 . “Tax Y
3 yd?? 3t 31t
2 X = 271t2
) Ty T
10,0002 1 mi. 1 mi. ;
3) — X X = .00036 mi.2
1 5280 #/ 5280 ¢ (rounded)
4)1200r;|=ﬂf im im = 12m2

T X100ém *T00ém

152 % 12in. 12in. 12in.

5 — W xS Tp
1yd3 3t 3t 3ft.  _ 3
6) 1 X T X Ty X Ty = 27 ft.

1p3 52801t 5280 ft. 5280 ft.

7
T AT BT |
= 147,000,000,000 ft.3
3@® _100cm _ 100 cm _ 100 cm
O XA XA KA
= 3,000,000 cm3
3cords  1281t3
———— = 384ft3
9 1 X 1 cerd
2 yards 2713 o
10) ol = 541t

11) (X-5)(X-5) =0
X=5

12) (5)2-10(5)+25=0
25-50 + 25 = 0
0=0

1,728in.3

13) (X
X

14) (7)2-12(7)+35=0
49-84+35=0

0=0

(5)2-12(5) + 35 =0

25-60+35=0
0=0

15) (BX-1)(X-2) =
3X2-7X +2

16) 5621 > 4800

17) WFx9ft2=1ft2
WF =19=111=111%

18) WF x 27,878,400 ft.2 = 43,560 ft.2
WF = 1/640

19) R ='90¥98-_ 44 {7 yds
9 sec.

20) =200mi: _ 46 mpn
5 hrs.

10)

11)

12)

13)

14)

15)

16)

©

x D20k . eoml,

1l

4507, 289
_ = 1,260
T 197 g

211& x 22108 _ 460 bs,

14§
15 A 9m
—_— = 1835m
1 7 vd.
15 gl 4in. .
= 6in.
T
254" .035 oz.
=.875 oz.
1T T4
Sﬁ. .95 | i
X = 4.75 liters
1 14
54’ 250M _ 4350
1 1jd
Sk’ 82mi. _ g4
1 1 jh

45 45kg _ 20.25 kg

=2940g

G3ydS. , 9M _ 557

30B
1) 4
2) 1.4
3) 22
4) 1.06
g Be , din_ _ygp
1 1M
6) 304 0350z _ 496
1 14
7) 121"""(‘ X '192{' = 11.4liters
8) ﬂ?i(- x 215;('“ = 275¢cm
9) 3677 L25em o000

1 1

10) o0 x'°315 9Z - 2640z

&N

11) —_18-51”{5' x =20 - 16.65m

12) —'“‘(L551 x22108: _ o1 s,

13) 16.34M. 1.6 km

= 26.08 km
1

12) 364 [1.064s. _ 59 45000
1 1

15) 50507 289 _ 141.4 g
1 104,

16) 3605er | _4in _ q4a0p
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" 5  250m _ yo50m 11) 221< 224
1 1.
12) 451ft2 < 50 ft.2
o) B 951 _ 5asjers )
1 14
13) (X +6)(X+6) =
3 1097 | 289 _ 54 X2+ 12X +36
1 19£.
14) Y=1/2X-2
gy 828 | 45kg _ 5744 m=1/2
1 1)6.
5 2 p 15) X2 +5X-14=0
) 3X2+ X+4 R -3 XA 7NX-2)=0
2X +1[6X3 + 5X2 + 9X + 1 X=-7, X=2
-(6X3 + 3X2)
2X2 + 9X
-(2X2 + X) 16) (-7)2 + 5(-7) + 6 = 20
—8&X:1 49-35+6=20
-(8X + 4) =2l
-3
17) (@X + 3)(X +2) .... (2X2 + 4X + 3X + 6)
6) 3X2+ X+4
2X + 1
A2 Gad 18) E =400W - 100
6X3 +2))((2’: 8))(<+ 4 (E = earnings, W = weeks)
6X3 + 5X2 + 9X + 4 E #18
-3 T
6X3 + 5X2 + 9X + 1 /
2 /
7) 3x i W
8) Vo(104 =3(10)2 ]
300 = 300 /
y
| 4
2
9 3.5 gores x43,560 ft2 _ 152,460 ft.2
1 1.2er6
19) $300
oy iz 5280 ft. 5280 ft.
X
1 Lant” Lant” 20) E = 400(30) - 100
= 27,878,400 ft.2 E=$11,900

30D
1) T ABKM | gy 5y
1 1 pfi.
2) 8’ A45kg = 36kg
1 1)6.
3) Aya€  9m  _aen
1 1 4.
4 29 951 ojiers
1 1 4.
5) 2X2- 5X- 14 R -21

7)

8)

10)

x-2[2x3- 9x2- ax+ 7

-(2X3 - 4X?)
-5X2 - 4X
-(-5X2 + 10X)
A4X+ 7
-(-14X + 28)
-21
2X2 - 5X- 14
X- 2
-4X2 + 10X + 28
2X3 - 5X2 - 14X
2X3- 9X2 - 4X +28
-21

2X3 - 9X2 - 4X+ 7

ax

YX2

100,0004% X — 3 _ 5906 acres
1 4356042

134 _100cm _100cm
1 iar Zud

= 13,400 cm?2

11

s

12)

13

14

=

15)

16)

17

~

18)

19)

20)

7,216 < 7,224

189 ft.3 > 175{t.3

(X-3)(X-3) =
X2-6X+9

Y=12X-2
perpendicular slope = -2

X2 -12x +20=0
(X-10)(X-2) =0
X=10, X=2

(10)2 - 12(10) + 35 = 15
100 - 120 + 35 = 15
15=15

(22-12(2) +35=15
4-24+35=15
15=15

(X + 7)(X +2) = (@X)(X +2) + (7)(X + 2) =
(2X2 + 4X + 7X + 14) '

T
R

T=D/R
12 +6=2hours

Y<32X-1

aoe - O0g suonnjos



5)

6)

10)

L2mi. _ 455mi,
T X 1 4fh
14 NG RET W
1 14

M 22165 _ 545 g,

1047 1060t _ 06 qis.

2X2+3X+8 R 21

2X-3[4X3 +0X2 4 7X- 3
-(4X3 - 6X2)
6X2 + 7X
-(6X2 - 9X)
16X - 3

-(16X - 24)

21

2X2 +3X + 8
2X- 3
-6X2 - OX - 24
4X3 + BX2 + 16X

4X3 +7X-24
+21

4x3 +7X- 3

12

5X3

2
Licad 91" = 157512

1 X 1y

25X 18 = 450 ft.2

450 42~ «_yd.
3 942"

= 50 yards of carpet

11)

12)

13)

14)

15)

17) T =4 +6=4/6 = 2/3 hr. or 40 min.

18) T=4+3=4/3=11/3hr.or 1 hr. 20 min.

19)

20)

221 < 224

45 ft.2 < 50 ft.2

(X-2)(X-2) =
X2-4X +4

X+4)(X+4)=
X2 +8X+16

X2 +7X-60=0
(X+12)(X-5)=0
X=-12, X=5

(-12)2 + 7(-12) - 18 = 42
144.84-18=42

42 =42
(5)2+7(5)-18 = 42
25+35-18=42
42 = 42

2P-2+7+P-P
simplified 2P + 5

2P +5=11
2P=6, P=3

31A

1) J16 =4 43 = 64

2) 22=4

A3) Ji00 =10

o8 =2 22 -4
5) X510 = X1/2

6) Y15

7) (Y3)1/4=Y2

8) 416 =2 23-8

9 Y27 =3 34 =81

10) Y8 =2  2x16=32

11) J64 =8 8/8=22=4

12) (X12)1/2 = X6

13) (M7/6)6 =M7

14) (X15.X5) = (X20)1/2 = X10

15) ()(10/3)1/6 = X5/9

16) (M4)3/4 = \13

31B

1) Y32 =2 22-4

2) 93=729

3) V81 =9

4) Y625 =5 53 = 125

5) X618 = X2

6) Y114

7) (Y10)1/5 = y2

8) Y27 =3 32=9

9) 4\' 81 =3 35 =243

10) Y64 =4 4x4=16

11) 168/12 = 161/4 =2

12) (X8)1/4 =X2

13) (Y544 =Y5

14) (X- X915 = (X5)1/5 = X

15) (X12/5)1/6 = X2/5

16) (Y14)1/2 = y7
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